#ERR
Elbow

1= #E$35E (2B) Tube Fitting (Black)

ceof oo JRT

Model TU%?Ddia' A B L P © E H R Mass(g) | Orifice
PLA-M3 3 |136]| 17 137 [155 | 8 | M3xo5 | 3 | 1.1
PLA-M5 4 | 133 17 137 | 155 | 8 | M5x08 | 32 | 2
PLA4-M6 4 |4 162205 ]| 8 [137 [155 ] 10 | Mex10 | 46 | 25
\ PLA-01 96 | 20 | 24 137 | 155 | 10 | PT18 | 64 | 4
PL4-02 7 | 172] 21 137 [ 155 | 14 | PTia | 152 | 4
) PL6-M5 4 [ 141 ] 19 138 [162 | 8 | M5x08 | 4 2
= PL6-M6 4 | 157 | 206 138 | 165 | 10 | Mex10 | 54 | 25
— PL6-01 6 | 7 [183] 23 | 10 [139 [165 | 10 | PTs | 74 | 4
PL6-02 94 | 211 | 26 14 | 157 | 14 | PTIia | 162 | 4
. PL6-03 98 | 212 | 26 14 | 161 | 17 | PT3/8 | 196 | 4
‘C—-‘ PL8-01 7 |215]| 28 202 226 | 10 | PT8 | 98 | 54
]
| PLB-02 95 | 22 | 285 20 |225| 14 | pTiia | 16 | 54
[[___ Y 8 13.6
! O[& N PL8-03 93 | 223 | 29 201 | 225 | 17 | PTas | 206 | 54
SIS T PL8-04 18 | 252 | 315 201 | 223 | 21 | PT12 | 338 | 54
S PL10-01 69 | 23 | 31 243 277 | 10 | pTUs | 17 | 5
PL10-02 o Los [2s2] 83| [2a1 276 1a [ PT14 | 184 [ 5
o PL10-03 94 | 249 | 33 242 | 276 | 17 | PTaB | 236 | 5
< PL10-04 12 | 27 | 35 243 | 275 | 21 | PT12 | 348 | 5
o | PL12-02 12 | 232 | 32.5 247 | 282 | 14 | PT14 | 214 | 5
[ﬁ R PL12-03 12 [ 96 | 266 | 35 |19.6 [249 | 289 | 17 | PTas | 266 | 8
Metric thread type PL12-04 96 | 26 | 35 25 | 288 | 21 PT1/2 | 37.8 8
AHIZFEL
PL ERe
ow
= CAD BEi(Unit): m/m
Model ™% A | B | L [@P| Cc | E | H | R |V orfce
PL3-M3-NI 3 | 152 [ 195 127 | 15 | 8 | M3x05 | 38 | 1.1
PL3-M5-NI 3 [32 |[133|172| 7 | 8 |145| 8 | Msx08 | 38 | 2
PL3-M6-NI 4 | 162 | 205 127 | 15 | 10 | MeX10 | 56 | 2
PLA-M3-NI 35 | 136 | 17 136 | 15 | 8 | M3X05 | 39 | 14
PLA-M5-NI 4 133 | 17 136 | 15 | 8 | M5x08 | 41 | 2
PL4-MB-NI 4 4 [162|205| 8 [136 | 15 | 10 | Mex10 | 5 | 25
PL4-01-NI 96 | 20 | 24 136 | 15 | 10 | PT18 | 73 | 4
PL4-02-NI 7 [ 172 | 21 136 | 15 | 14 | PT1/4 | 161 | 4
PL6-M5-NI 4 181 | 19 137 | 157 | 8 | M5x08 | 48 | 2
PL6-M6-NI 68 | 157 | 206 137 | 156 | 10 | M6X10 | 62 | 25
PL6-01-NI 6 7 (183 | 23 | 10 [137 |56 | 10 | PTIB | 82 | 4
E PL6-02-NI 94 | 211 | 26 139 | 152 | 14 | PT1/4 | 17 | 4
c PL6-03-NI 98 | 212 | 26 139 | 156 | 17 | PTa/® | 204 | 4
T N PLB-01-NI 7 | 215 | 28 201 | 221 | 10 | PT1/8 | 121 | 54
2 8[&‘ : ™ PL8-02-NI o |95 [ 22 [285] . [199 22 [ 14 [ PTis | 183 [ 54
R PLB-03-NI 93 | 223 | 29 20 | 22 | 17 | PTaB | 229 | 54
PLB-04NI 18 | 252 | 315 20 |218 | 21 | PT12 | 361 | 54
PL10-01-NI 69 | 23 | 31 242 272 | 10 | PT1/8 | 208 | 5
OH PLioozN | [ 06 252 33 | [ 24 [a71 [ 14 [ PTUa | 222 | 5
< PL10-03-NI 94 | 249 | 33 241 | 271 | 17 | PTa)8 | 274 | 5
<ﬁ | PL10-04-NI 12 | 27 | 35 242 | 27 | 21 | PT12 | 386 | 5
Vetrie threadfype R PL12-02-NI 12 | 232 | 325 246 |27.7 | 14 | PTU4 | 288 | 5
paealiZihies PL12-03-NI | 12 | 96 | 266 | 35 |19.6 | 248 | 284 | 17 | PTa)8 | 34 | 8
PL12-04-NI 96 | 26 | 35 249 | 283 | 21 | PT12 | 452 | 8
PLIGO3NI | [ 96 [08[435[ 22816 [ 21 | pram [ a14 | 117
PL16-04-NI 12 | 305 | 432 228 | 316 | 21 | PTI2 | 466 | 117

NI: S EIAEE

NI:Release Ring (Metallic Body)




oY EEf7(Unit: mim

Elbow Tube dia.

il oo | A|B|L|@P|C|E|[H]| R |Mss Oie
PL4-M3 3 13.6 17 13.7 | 15.5 8 M3X0.5 3
PL4-M5 4 13.3 17 13.7 | 15.5 8 M5X0.8 3.2
PL4-M6 4 4 16.2 | 20.5 8 13.7 | 1556 10 M6X1.0 4.6
i PL4-01G 75 | 175 | 21.8 13.2 | 155 10 G1/8 6.4
; ! PL4-02G 8.5 19 23.3 13.2 | 15.5 14 G1/4 14
PL4-03G 85 | 195 | 233 132 | 155 17 G3/8 20
PL6-M5 4 14.1 19 13.8 | 16.2 8 M5X0.8 4
PL6-M6 4 156.7 | 20.6 13.8 | 16.5 10 M6X1.0 5.4
PL6-01G 6 75 | 188 | 24.4 10 139 | 16.5 10 G1/8 7.4
E PL6-02G 85 | 201 25 139 | 17.2 14 G1/4 6.2
‘C—-‘ PL6-03G 85 | 20.2 25 138 | 17.2 17 G3/8 18.4
i PL8-01G 75 | 221 29 156 | 23.3 10 G1/8 9.8
a D[g- _:_ h \ PL8-02G 8 85 | 20.6 29 13.6 156 | 23.3 14 G1/4 14.8
Qe | PL8-03G 85 | 213 29 156 | 23.3 17 G3/8 19.4
Y PL8-04G 10 | 233 30 156 | 23.3 21 G1/2 30.4
’ =i PL10-02G 10 25.1 | 341 213 | 279 14 G1/4 17.6
OH B PL10-03G 10 85 | 23.7 | 327 | 16.7 | 21.3 | 279 17 G3/8 24
< PL10-04G 10 | 25.1 | 341 213 | 27.9 21 G1/2 31.8
< | PL12-02G 10 | 29.7 | 371 235 | 29.7 14 G1/4 20.6
]ﬁ \B PL12-03G 12 85 | 255 | 357 | 19.6 | 23.5 | 290.7 AT G3/8 27
Metric thread type PL12-04G 10 | 269 | 37.2 235 | 29.7 21 G1/2 34.8
NGRS

p |_ Eggnl
: CADIECADS- (U

Model Mgl A | g | L |@P| Cc | E | H | R |Mss| orifce

PL3-M3-NI 3 | 152 | 195 127 | 15 | 8 | M3x05 | 38

PL3-M5-NI 3 |32 |13 |172]| 7 | 8 |145] 8 | msx08 | 38

PL3-M6-NI 4 | 162 | 205 127 | 15 | 10 | mex10 | 56

PL4-M3-NI 35 136 | 17 136 | 15 | 8 | M3X05 | 3.9

PL4-M5-NI 4 |133 | 17 136 | 15 | 8 | M5X08 | 4.

PL4-M6-NI i 4 |162 |205| . [136 | 15 | 10 | MeXi0 | 5

PL4-01G-NI 75 | 175 | 218 129 | 152 | 10 | &8 | 73
PL4-02G-NI 85 | 19 | 233 129 | 152 | 14 | G4 | 149
PL4-03G-NI 85 | 195 | 233 129 | 152 | 17 | Gas | 209

PL6-MS5-NI 4 | 141 ] 19 137 | 157 | 8 | M5x08 | 48

E PL6-M6-NI 68 | 157 | 206 137 | 156 | 10 | Mex10 | 62
’c—'] PL6-01G-NI 6 75 | 188 | 244 | 10 | 138 | 172 | 10 G1/8 8.2

T PL6-02G-NI 85 | 201 | 25 138 | 172 | 14 | cim 7
ala Y PL6-03G-NI 85 | 202 | 25 138 | 172 [ 17 | c38 [ 192
Q QEQ' | PL8-01G-NI 75 | 221 | 29 156 | 233 | 10 G18 | 12.1
N PL8-02G-NI g | 85 |206 |20 | . [156 [233 | 14 G1/4 | 17.1
:H] ol PL8-03G-NI 85 | 213 | 29 156 | 233 | 17 | cas | 217
OH PL8-04G-NI 10 | 233 | 30 156 | 233 | 21 Gl2 | 327
< PL10-02G-NI 10 | 251 | 341 198 | 269 | 14 | G4 | 214
< ﬁ | PL10-03GNI | 10 | 85 |237 | 327 |16.7 [198 | 269 | 17 | cas | 278
R \R PL10-04G-NI 10 | 251 | 341 198 | 269 | 21 G112 | 356

Mt firead type PL12-02G-NI 10 | 297 | 37.1 22 (282 14 | G4 | 28

ATHIZFEI

PL12-03GNI | 12 | 85 | 255 | 357 | 196 | 22 |282 | 17 | cas | 344
PL12-04G-NI 10 | 269 | 372 22 [ 282 21 Gl2 | 422

GrEREF(PFES)6:BSPP Thread
NI: & EBiREHR NI:Release Ring (Metallic Body)




T2 HEIETA (E) Tube Fitting (Ivory)

B (Unit): m/m

Model Tulbe[;]ia. A B L oP c E H R Mass(g)| Orifice
PL4-M3-W 3 |136 | 17 137 | 155 | 155 |M3x05| 3 | 1.1
h PL4-M5-W 4 [133 ] 17 13.7 | 155 | 155 | M5x0.8 | 3.2 | 2
PLAM6W | 4 | 4 |162] 205 | 8 |137 | 155 | 155 |Mex1.0| 46 | 25
\ PL4-01-W 96 | 20 | 24 137 | 155 | 155 | PT1/8 | 6.4 | 4
\ﬁ PL4-02-W 7 172 21 137 | 155 | 155 | PT1/4 | 152 | 4
= PL6-M5-W 4 |141] 19 138 | 162 | 16.2 | M5x0.8 | 4 2
= PL6-MB-W 4 |157 | 206 138 | 165 | 165 | M6x1.0| 54 | 2.5
PL6-01-W 6 7 |183] 23 | 10 [139 | 165 | 165 | PT18 | 7.4 | 4
PL6-02-W 94 |211| 26 14 | 157 | 157 | PT1/4 | 162 | 4
E PL6-03-W 98 |212| 26 14 | 161 | 161 | PT3/8 | 196 | 4
‘—C-! PL8-01-W 7 215 28 202 | 226 | 226 | PT1/8 | 9.8 | 54
R PL8-02-W 95 | 22 | 285 20 | 225 | 225 | PT14 | 16 | 54
S 8[&- : Peosw | ¢ |93 |223] 20 | "8 [201 [225 [225 | PT3is | 206 | 54
S PL8-04-W 1.8 | 252 | 315 201 | 223 | 223 | PT1/2 | 338 | 54
PL10-01-W 6.9 23 31 243 | 277 | 2717 | PT1/8 17 5
- PL10-02-W 96 |252| 33 241 | 27.6 | 276 | PT1/4 | 184 | 5
6l pL1o03w | 'O [ 94 [249] 33 |67 [242 | 276 276 | PT3/8 | 236 | 5
<E = PL10-04-W 12 | 27 | 35 243 | 275 | 275 | PT1/2 | 348 | 5
R R PL12-02-W 12 |232 | 325 247 | 282 | 282 | PT1/4 | 214 | 5
Metric thread type PL1203W | 12 | 96 |266 | 35 | 196 |249 |289 |289 | PTais | 266 | 8
AHIFEE PL12-04-W 96 | 26 | 35 25 | 288 |288 | PT12 | 378 | 8
NI Elbow
m CAD L CALLR- (U
Model |Tgdal , | 5| | |gp| c | E R | Massig)| Orifice
PL3-M3-NI-W 3 |152 | 195 127 | 15 | 8 |M3x05| 38 | 1.1
. PL3-M5-NI-W 3 [32 [133[172 ] 8 [ 8 [145| 8 |[wmsx08| 38 | 2
PL3-M6-NI-W 4 |162] 205 127 | 15 | 10 |M6x1.0| 56 | 2
PL4-M3NI-W 35 |136 | 17 136 | 15 | 8 | M3x05] 3.9 | 1.1
PLA-M5-NI-W 4 133 17 136 | 15 | 8 |M5x08| 41 | 2
pLaMeNW | 4 | 4 [162]205 | 8 [136] 15 | 10 [mex10] 5 | 25
PL4-01-NI-W 96 | 20 | 24 136 | 15 | 10 | pris| 73 | 4
PL4-02-NI-W 7 172 21 136 | 15 | 14 | PT1/4 | 161 | 4
PL6-M5-NI-W 4 141 ] 19 137 |157 | 8 |msx08| 48 | 2
e PL6-MB-NI-W 68 | 157 | 206 137 | 156 | 10 |mex10]| 62 | 25
'o—" PL6-01-NI-W 6 7 |183] 23 | 10 [137 156 | 10 | PT1/58 | 82 | 4
T N PL6-02-NI-W 94 |211] 26 139 |152 | 14 | pria| 17 | 4
- OI | B PL6-03-NI-W 98 [212] 26 13.9 | 156 | 17 | P13 | 204 | 4
S 1 PL8-01-NIW 7 |215] 28 201 (221 | 10 | PTU8 | 121 | 54
PL8-02-NI-W 95 | 22 | 285 190 | 22 | 14 | pT1a | 183 | 54
. PL8-03-NI-W 8 |93 [223] 20 | ™% 20 | 22 [ 17 | prais | 220 | 54
OH PL8-04-NI-W 1.8 | 252 | 315 20 [218 | 21 | Prir2 | 361 | 54
< PL10-01-NI-W 69 | 23 | 31 242 | 272 | 10 | PT1/8 | 208 | 5
<ﬁ PL10-02-NI-W 96 |252 | 33 24 274 | 14 [ PT14a [ 222 | 5
R \R 10 16.7
. PL10-03-NI-W 94 |249 | 33 241 | 274 | 17 | Prais | 274 | 5
NI PL10-04-NI-W 12 | 27 | 35 242 | 27 | 21 | PT12 | 386 | 5
PL12-02-NI-W 12 | 232 | 325 246 | 277 | 14 | PT1/4 | 288 | 5
PL1203NIW | 12 | 96 | 266 | 35 | 196 | 248 |284 | 17 | P38 | 34. | 8
PL12-04-NI-W 96 | 26 | 35 249 | 283 | 21 | PT12 | 452 | 8

NI: £/BIREHE

NI:Release Ring (Metallic Body)




(] Elbow

 Fod ——

Model |M&f* A | B | L |@P| c | E | H | R |[Veslo)orice
< PLA-M3-W 3 |136| 17 137 | 155 | 8 |M3x05| 3 | 1.1
PLA-M5-W 4 133 | 17 137 | 155 | 8 |M5x08| 32 | 2
‘ \ PLaMew | , | 4 |162[205 | . [137[155 | 10 |Mex10| 46 | 25
PL4-01G-W 75 | 175 | 218 132 | 155 | 10 | G1/8 | 64 | 4
PL4-02G-W 85 | 19 | 233 132 | 155 | 14 | G1/4 | 14 | 4
PL4-03G-W 85 | 195 | 233 132 | 155 | 17 | GaB | 20 | 4
PL6-M5-W 4 141 19 138 | 162 | 8 |M5x08| 4 | 2
PL6-MB-W 4 | 157 | 206 138 | 165 | 10 |M6x10 | 54 | 25
PLGOIGW | 6 | 7.5 | 188 | 244 | 10 | 139 |165 | 10 | G18 | 74 | 4
E PL6-02G-W 85 | 201 | 25 139 | 172 | 14 | G1/4 | 62 | 4
‘—C’! PL6-03G-W 85 |202 | 25 139 172 | 17 | Gas | 184 | 4
e |_\ PL8-01G-W 75 |221 29 15.6 | 233 | 10 G1/8 9.8 5.4
& 8[&- H—— PLBOGW | g | 85 | 206 | 29 | 436 | 156 | 233 | 14 | G4 | 148 | 54
---13 PLB-03G-W 85 | 213 | 29 156 | 233 | 17 | G3/8 | 19.4 | 54
: | PLB0AGW 10 | 233 | 30 156 | 233 | 21 | G112 | 304 | 54
@ PL10-02G-W 10 | 251 | 341 213 |279 | 14 | G4 | 176 | 5
©H PL1003GW| 10 | 85 | 237|327 |47 | 213 |279 | 17 | Gas | 24 | 5
<ﬁ | < PL10-04GW 10 | 251 | 344 213 |279 | 21 | G112 | 318 | 5
R R PL12-02G-W 10 |29.7 | 37.1 235 [297 | 14 | G4 | 206 | 5
Metric thread type PL12.03GW| 12 | 85 | 255 | 357 | 496 | 235 | 207 | 17 | Gas | 27 | 8
AR PL12-0AG-W 10 | 269 | 37.2 235 | 207 | 21 | G112 | 348 | 8
G+NI Elbow
m (2188 B {3 (Unit): m/m
Model Tub&;:lia A B L P | C E H R Mass(g)| Orifice
< PL3-M3-NIW 3 |152 | 195 127 | 15 | 8 [M3x05 | 38 | 1.1
PL3-M5-NIW 3 [32 [133]172] 8 [ 8 [145| 8 |msx08| 38 | 2
PL3-ME-NI-W 4 162 205 127 | 15 | 10 [Mex10 | 56 | 2
PLAM3-NIW 35 | 136 | 17 136 | 15 | 8 |M3x05 | 3.9 | 14
PLAM5-NIW 4 [133] 17 136 | 15 | 8 |M5x08 | 41 | 2
PLAME-NIW o |4 Je2205 |  [136] 15 [ 10 [mexto]| 5 | 25
PLA0OIGNIW 75 [175 | 218 120 [152 | 10 [eus | 73 | 4
PLA-02G-NI-W 85 | 19 | 233 129 [152 | 14 [ 614 | 149 | 4
PL4-03G-NI-W 85 | 195 | 233 129 [152 | 17 | cas | 209 | 4
E PL6-M5-NIW 4 141 19 137 [157 | 8 |[M5x08 | 48 | 2
'c——l PL6-M6E-NI-W 68 |157 | 206 137 | 156 | 10 |M6x1.0 | 62 | 25
T PLGOIGNW | 6 | 75 |188| 23 | 10 |138 [172 | 10 | G8 | 82 | 4
aQ o[g_ T PL6-02G-NIW 85 |20.1 | 25 138 (172 | 14 | o4 | 7 | 4
SR 1L PL6-03GNIW 85 [202] 25 138 [172 | 17 | cas [ 192 | 4
. PLB-01G-NIW 75 221 | 29 156 233 | 10 | G158 | 121 | 54
ol PooaGNW_ | o [85 J206[ 20 | [156 233 [ 14 [G1m | 171 ] 64
OH PLB-03G-NI-W 85 |213| 29 156 233 | 17 | Ga/s | 217 | 54
< PL8-04G-NI-W 10 [233] 30 156 | 233 | 21 | G1/2 | 327 | 54
<ﬁ | PL10-02G-NI-W 10 | 2541 | 341 198 [269 | 14 | G4 | 214 | 5
\B R PL1003GNIW | 10 | 85 |237 | 327 | 167 198 |[269 | 17 | Gas | 278 | 5
kSR type PL10-04G-NFW 10 [ 251 | 34.1 198 [269 | 21 | G1)2 | 356 | 5
PL12:-02G-NI-W 10 [20.7 ] 37 22 [282 ] 14 | G4 | 28 | 5
PL1203GNFW | 12 | 85 [255 | 357 | 196 | 22 [282 [ 17 | Gais | 344 | 8
PL12-04G-NI-W 10 |269 | 372 22 [282 | 21 | G2 | 422 8

GrEREF(PFES) 6:BSPP Thread
NI: & EBiREHR NI:Release Ring (Metallic Body)




